Solve this system of equations using Substitution.
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You can solve this system of equations using Elimination
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Solve this system of linear equations using substitution:

4x + 5y = -29
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Solving a system of linear equations Algebraically

Two Methods
Substitution: Elimination:
hen  both
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Which method would you use to solve this system of
linear equations?

1 y=-7x+8 y=6x-12
T y=2x-19 2 6x+ 10y = 24
Substidhon Sibst

Mot commoan

3 4x +9y = 37
—Tx+3y =29

y=6x—-12
6x + 10y = 24

typo on note sheet

1 y=-7x+38
Ty=2x-19
3 Eliminating x

- M (4.\'+9y = 37)
J (=7x+3y=129)

2Ex+G3y = 159
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Eliminating y
4x +9y = 37
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4. Solve this system of linear equations.

-12x + 7y =-29 1y 3 =-219
L<6x+5y=23> o v ly=yb
N = 17

.
<g)‘ ) Now find x:

6x + 5(1) = 23
x=3
Solve this system of equations
using elimination:
to eliminate c: To eliminate d:
3(8c + 3d = 41) | (sc+3d=41)

T(sc + 11d = 57) (6c + 11d = 57 )
l ; !

24c +9d = 123 88c + 33d = 451
24¢ + 44d = 228 18c + 33d = 627
Now subtract to solve Now subtract to solve
for d. for c.

(ox 13y = 2| o X +3y=2
~5,(2x -\—3,"—‘“0 _ Lyx=3g =1L
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An athletic director needs to purchase some equipment.
One day seven basketballs and six volleyballs were
purchased for $425. The following week, nine
basketballs and five volleyballs were purchased from the
same store for $465.

Write and solve a system of equations to find the cost of
each basketball and each volleyball.
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